Financial Accounting An integrated Approach
CURRENT RATIO
Current Ratio is calculated as current assets divided by current liabilities. It indicates whether the company has enough short-term assets to cover its short-term debts. The ideal current ratio depends on the type of business but the standard Current ratio to be maintained is 2:1. Arrow Energy current ratio in the year 2007 was 2.1 which state that it has a favorable stock in hand but in the year 2008 and 2009 its current ratio are 5.93 and 4.42 which is two times greater than the standard ratio. The reason is big amount of cash or stock receivables. In addition, the company is investing too heavily in the non- or low-earning assets and therefore not putting the assets to the most productive use. (Appendix 1)
QUICK RATIO
Quick ratio measures assets that are quickly converted into cash and they are compared with current liabilities. This ratio states that some of current assets are not easily convertible to cash e.g. inventories. Ideally, this ratio should be 1:1. In the year 2007 Arrow Energy has quick ratio 1.8:1. Similarly, it has 5.68:1, 4.15:1 quick ratio in the year 2008 and 2009. Since, the quick ratio of Arrow Energy is greater than its standard ratio in those three years, we can conclude that the company is keeping too much cash on hand and have a poor collection program for account receivable. If the ratio was lower than 1:1 then it would have indicated that the company relies too heavily on inventory to meet its obligations. (Appendix 2)
DEBT TO EQUITY RATIO
Debt to equity ratio indicates what proportion of equity and debt the company is using to finance its assets. A high debt/equity ratio generally means that a company has been aggressive in financing its growth with debt. Arrow's debt to equity ratio in the following three years 2007, 2008 and 2009 is less than 1 that is 0.272, 0.320 and 0.571 which shows that the assets in this company are financed mostly with equity. (Appendix 3)
LEVERAGE RATIO
This ratio shows how much of assets are financed by equity. This is defined as total liabilities plus shareholder's equity divided by shareholder's equity. Arrow's leverage ratio in the year 2007 is 1.27 which is less than ratio than 1.32 and 1.57 of the following year 2008 and 2009. Since the ratio is increasing every year which shows that owners of the Arrow Energy are getting higher returns as a result of the profit. But the higher ratio also shows a higher risk of being unable to meet debt obligations by creditors. (Appendix 4)

Did you read the notes to BS and IS referred to the numbers you used for calculation ratios? Notes will give you more information about how Arrow used their cash, profit, equity and etc. I think that extra information will be very useful and give better picture.
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